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A 4 vl Ic Ve Isg |Vsg | la Va Ig, | Vao Vgl
m | Vv | m vV | m v mA v mAa | v ]| v
vy-606 280 6,21 1,0 56 0,2 |66 | 0,0 | o2 -1 -
V,-6a7 |280]|5,2] 9 1,7 | 3,2 | 64 | 2,85 | 92 2,9| 92| -
V3 = 6D6 280 | 5,2 | 6 1,8 | 1,3 | &4 47 g2 -] - - |
vV, - 6B7 280 | 5,6 | 0,3 | 0,8 0,07} - | 0,23 - - | - -
Vs - 256G | 280 12,5 | 30 - |2, | o2 28 87 R EE
Ve - 2525 | 280 [19,5 | 46,6 | s2 | - - - - A R
220 V A,
V; -6D6  |300 | 6 1,6 | 7,3 | 0,3 | a4 1,3 |120 -1-1 -
Vp-6A7 [30016 113 |22 |42 |8 | 41 [120 | 4,2(120] -
Vg -~ 6D6 300 | 6 9,6 | 2,5 | 1,9 | 84 7,6 | 120 - | - -
Vg-67 30063 [0, |1 |o,1 lo,e5] - - -l-1 -
Vs - 25166 | 300 |2¢ [ 42,6 | - {2,6 [120 | 0 |112 - | - [~11,6
Ve -2525 [aoo|ea |es,5 [ 120 | - | - - - -l -] -




